


| & 0l & A & Al A
PO2IEE 0ot Ut M 25t H S
SN 2HHSD
E: AL e
ool 2s=Xs2 2Y (S5 A2
- _ - &
SA -3 HAGA) - HEAY - BES Ol & oK 'Oﬂ'@oEu HuE2
23 HS 13, 150,342 10,828,607 2,321,735
= 309,600
= 1,345,000
p] 613,414
= 1,644,403
= 9,237,925
s A& B 913,772 1,572,438 658,666
szl 29 500, 192 1,257,407 AT57,215
2= AL el 411,942 1,223,973 £812,031
101 Q1248 2,791 2,672 119
IR EESETPS 2,791 2,672 119
ORs=N a2 FHFY vy
69, 76021 %291 +20 2,791
201 YEr2 Y| 358,491 313,200 45,291
01 AbR2t2|H] 10,491 20,200 £9,709
OUBIE SHPL 42 100,000 122 1,200
CEIS=L-ISTR-P 3] 12,1002 x20H x 1224 2 291
02N B ASHA 2
2,000,00021 %14} 2,000
ORMEFY A2 500,0002 x43| 2,000
OAETE A24 SETY 5,000,000 14! 5,000
02 ZZ2YH| 348,000 293,000 55,000
OBZ22 2 HA 150,000, 00024 *14! 150,000
oozl 1,20021%25,0002] €4 30,000
CNEESES 40,000, 00021+ 14! 40,000
ONEFZ 242 25,000, 00021+ 14! 25,000
Of =250l &5 2eietsl 5|
3,000,00021 %14} 3,000
OS=XS A L MSAL Hap2l 9
S 90,000, 00021+ 14! 90,000
OSS=NE 2 A LI & o HA e
10,000, 00021 * 14! 10,000
202 018 2,160 2,160 0
01 201 | 2,160 2,160 0
O2s=Xs2 L= Ol
20,0002 *6 % *33] 2,160
206 2| 4,000 4,000 0
01 M2l 4,000 4,000 0
O2H=NEB HTA W2 P2
,000,0002 * 14! 4,000
401 AlZHIL 20| 42,000 790,000 A748,000
01 Al&tt| 42,000 790,000 A748,000
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FA 2HF S
3 ZotAE 2l
ool 2= 2y CERE
. - - N
S - el (3H) CRRE S HI DS
Oo=sz=ksl2 = T=EA
22,000,0002 =141 22,000
O2s= a2 15 2ENE S A
20,000,0003 =14 20,000
405 AtHakE S| 2,500 20,000 A17,500
01 A =EFSH 2,500 20,000 A17,500
O=ZAlE YHA=T| £ 500,000 *57H A 2,500
=88 24 14,750 33,434 18,684
201 223yl 2,750 2,750 0
01 At=2t el 2,750 2,750 0
OaU+=gd Letzd 1,000, 0003 * 141 1,000
O M 1,5002 +5000H 750
OARIA U Zo/A HOIEE RY
50,0003 x5 *42] 1,000
206 M= Hl 12,000 6,000 6,000
01 M =dl 12,000 6,000 6,000
oO+=gd A= 7Y 12,000,000 14 12,000
ST 24 73,500 0 73,500
201 fet2E| 27,000 0 27,000
01 Ab=2t el 17,000 0 17,000
OSe&Edl SXtl 15,000,0003 141 15,000
Oz RUHZY 2 2,000,000 *14! 2,000
02 3323 10,000 0 10,000
OA&EEX =XN=2+H 10,000,0003 141 10,000
401 Al HIZL 20l 44,000 0 44,000
01 Al€Hdl 44,000 0 44,000
O8AY U LEDEE SA 44,000,000 *14] 44,000
405 Aok S| 2,500 0 2,500
01 A =S F S 2,500 0 2,500
23194 2128 0013+
2,500,000 =14 2,500
g=desE 29 91,350 82,620 8,730
2EAEE 22l 91,350 82,620 8,730
201 fet2 4| 81,350 43,150 38,200
01 AtR2telH 2,350 2,350 0
OLERdsE Lt 1,000,000 =14 1,000
ogsgs 2= 22 7Y
900,0002 14 900
ogEdds == & ANEN NS
450,000 * 141 450
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M 2SI
HH: 2siAa B
ol dB9dE 29 (il F 2
= X XH Ct2l (S = o P == OH x‘—-IL'i'E =2}
Tkl ox—|'|_|"l‘|(21)")'k"—rA|'|=l"‘nﬂo—1 0:"‘&'—| O:H&.OH t”DLEI:I
02 2322l 79,000 40,800 38,200
03222 & HAl 15,000, 000& » 14! 15,000
odZl 3,000,000& 14! 3,000
OA&EEH Sl 5,000,000& 14 5,000
OQANHEEH =2 7,000,000 14! 7,000
OHN3E A2 AEEH =2
1,000,000& *22] 2,000
OYBYYE L 2ot o ASB
45,000, 000 =14 45,000
OYBAYE U L 9% Fb
2,000,000& 14l 2,000
401 Al HI L2 0HHI 10,000 0 10,000
01 Al&HI 10,000 0 10,000
ON2H3 & =2 AXISA
10,000, 0003 * 14! 10,000
LA FZ ottt 2el 76,400 78,470 A2,070
LAtFZ ot 2el 76,400 78,470 A2,070
201 et gy| 16,400 11,000 5,400
02 5223l 16,400 11,000 5,400
03222 & HAl 6,000,000& 14! 6,000
OAEZEHl SXdl 3,000,000& 14! 3,000
QANHEEL =2 5,000,000& * 14l 5,000
OHM3BAES HHEFH =2
1,200,000& *22] 2,400
401 Al HI L2 0HHI 60,000 30,000 30,000
01 Al&HI 60,000 30,000 30,000
O=2st2t 22 SIS AL 60,000,000 141 60,000
AAHHE 22| 245,830 153,941 91,889
A HE 2el 245,830 153,941 91,889
101 Q124 H| 52,110 0 52,110
04 DI HZ2XSE 52,110 0 52,110
oX=dst2 JIZEMZ2 2 A 212A4H|
2,895,000 «6L1«3& 52,110
201 et Fy| 186,720 112,000 74,720
01 At 22|l 56,720 8,000 48,720
O&EPHH LLH2AH| 3,000,000& 14l 3,000
OZstE3a 12,540,000& ~3& 37,620
OZEHHUH AIZEH A2 =4&H|
5,000,000& * 14l 5,000
OZat& AAE K& 550,000& *3& 1,650
OUH&E M =4I 3,150,000& «3& 9,450
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SN 2HHSD
Hu: 2sNL B
Sl WRAME e (S5 &2
= = o= &
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
02 ZZ=2YH| 130,000 104,000 26,000
02222 2 HA 60,000, 00021+ 14! 60,000
CNEEFIEN 10,000, 00021 *14! 10,000
ONEEZ 228 15,000, 00021 *14! 15,000
OUTME BA2 FISE
45,000, 00021 *14! 45,000
206 T 24| 4,000 4,000 0
01 T2 4,000 4,000 0
OWHME A WE U M| 25 79
4,000,00021 %14} 4,000
405 X4+ St 3,000 0 3,000
01 TS ZF S| 3,000 0 3,000
OUZNE HABRS BstadtH 7Y
3,000,000 * 174 3,000
stz ME 1,255,986 1,273,393 ATT7,407
p] 101,979
= 45,464
2 1,108,543
SIS HA X 617,700 634,700 A17,000
= 8,800
2 608,900
FUSSH 2 558,000 555,000 3,000
201 LBt Y| 3,000 0 3,000
01 AbR2t2IH] 3,000 0 3,000
OR&A NB 2Y 3,000,00024 %14} 3,000
307 212401 & 555,000 555,000 0
04 QIS AFAIRI B X 555,000 555,000 0
OYUSSH HAXIH (FEEX)
340,000, 0002 *14! 340,000
OYUS AASTH HAH N
40,000, 00021+ 14! 40,000
OND LUSET HA X2
35,000, 00021+ 14! 35,000
0L AASTH HAH K
35,000, 00021 *14! 35,000
OB=0 AASBH HAH N
35,000, 00021+ 14! 35,000
OB SAYLFK BA N
35,000, 00021+ 14! 35,000
OUBD AASHH HAH N
35,000, 00021 *14! 35,000
2 SSA X 14,300 14,300 0
307 212401 & 14,300 14,300 0
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2A: 28D
Y 230z NS
ol 2SS HAL N (oo M el
) _ - PSJE|
SH-3H.S4A(S) - HIRAY - BAS Ol &4 '(EI&OEH Hlus2
04 QIIH AL 14,300 14,300 0
OUAS RS #A X2 4,300,002 14! 4,300
OMH THEE SA X 2,000,000 *14! 2,000
0N RS #A X2 2,000,002 14! 2,000
OB=M IS #A X2 2,000,002 14! 2,000
OB IS &AL X2 2,000,0002 *14! 2,000
OLBM LS &AL X2 2,000,0002 *14! 2,000
Zo2ss 29 3,400 3,400 0
201 LBr2 Y| 3,400 3,400 0
01 At eyl 3,400 3,400 0
OZLISsA AASIRE BHLT
70,0002 %1021 %23] 1,400
OS5t ATHAIA 2,000,0002 *14! 2,000
ohLIBIOlE 2EI= FIE 22,000 22,000 0
= 8,800
= 13,200
201 LBr2 | 22,000 22,000 0
= 8,800
= 13,200
01 AtR2el | 22,000 22,000 0
oYLl Aat HLIHOIL 2EI= M
22,000, 0002 *14! 22,000
= 8,800
= 13,200
DISOEEH &t N 20,000 0 20,000
307 BI2+0I 20,000 0 20,000
02 QIRIA A AL B 20,000 0 20,000
OF 2UHMZ=H FIXY 20,000,002 *14] 20,000
B2 S4 295,923 216,763 79,160
= 10,000
= 285,923
sotetsst N 30,000 30,000 0
307 RI2+0I & 30,000 30,000 0
02 BRI AALI B X 30,000 30,000 0
0S¢ sl N 5,000,0002 671 S & 30,000
NS5 ALES K| 185,923 166,763 19,160
307 BI2+0I 175,523 166,763 8,760
03 QIR H 2B X 175,523 166,763 8,760
oYL 212t 160,223
OAR=Z 121t 47,675
S 2,718,7002 * 122 32,625
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SN 2SHS
dH: Zsldls &E
o FERT 24 (A= &
SN B S() - MBAY - BAS 01l &k o e HlDS2
A=Y 543,740 23] 1,088
-IEE 40,0002 =123 480
-NZE x| 165,000 x12& 1,980
-ZHZAH| 130,000& x12& 1,560
-HHEFOHI 1,631,220& »23| 3,263
-ERAE S 679,670& *43] 2,719
~“4HEE (AL RES) 330,000 x12& 3,960
OAMSE 2124d| 47,714
A==] 2,653,400& x12& 31,841
A=Y 1,326, 7003 *23] 2,654
-NZE x| 155,000 x12& 1,860
-Z g Al 130,000 x12& 1,560
-HHEFOtHI 1,592, 0403 »23| 3,185
-ERANE S 663,350 *43] 2,654
A2 E (MG RR2EZ) 330,000 x12& 3,960
OAREA o124d((1) 33,287
A== 1,823,600 *12& 21,884
A=Y 364,720 23| 730
-tEsg 40,000 *12& 480
-NZE x| 145,000 x12& 1,740
-Z g AlH| 130,000 x12& 1,560
-HEFOtHI 1,094, 1603 »23] 2,189
-ERNE S 455,900 *43] 1,824
A2 E (MG RR2EZ) 240,000 x12& 2,880
OAREJA o124d[(2) 31,547
A== 1,703, 100& x12& 20,438
Rt 170,310& *23] 341
-t Esg 80,000& *12& 960
-NZE x| 145,000 x12& 1,740
-Z g AlH| 130,000 x12& 1,560
-HEFOtHI 1,021,860& »23] 2,044
“ERNE S 425,770 43| 1,704
A2 E (MG R2EZ) 230,000 x12& 2,760
OLU=3E 23| 15,300
O=29g| 15,300
=7 300,000& *4= 7| 1,200
-2dBt2AH|(2+, 427 S)
1,200, 0003 »14] 1,200
3|2/ A7 QI 6,000 250 1,500
-E M7 200,000& *x24! 400
HEASE 500,000 * 14! 500
-Xt&k= X dl 2,500,000& *14] 2,500
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S H:
7(‘| il—l:
C|—O|:

S =
Estils &8
SEIs F4

= = X L=
SA SR (S) - MRAY - BAS il &t e RS2
-S3R2= 250,000 x12& 3,000
-2 ZHO0IX 228l 750,000 4= D] 3,000
-S| 2,000,000 14 2,000
402 QI+ X201 10,400 0 10,400
01 QIR 2ALS E & (KM E) 10,400 0 10,400
OZsstn wssE F&JI| & 7
7,400,000 *14] 7,400
OBEAITA ARII| P
3,000,000 1A 3,000
Zststn 29 20,000 20,000 0
& 10,000
o 10,000
307 SI2toI & 20,000 20,000 0
& 10,000
i 10,000
02 QIZtAAMAIHE X 20,000 20,000 0
OZ3tstl) ALY At X2
20,000, 0002 =14 20,000
& 10,000
o 10,000
FZotllls EHFA 60,000 0 60,000
207 & 20 Y| 60,000 0 60,000
01 A7 E | 60,000 0 60,000
O=RstHz=dsHE =8 AREY
60,000, 000 * 14! 60,000
=0 23tMHIA WS 342,363 421,930 AT9,567
| 101,979
& 26,664
o 213,720
2E Z30=SHAL XA 111,513 127,780 A16,267
201 et Fy| 25,680 44,840 A 19,160
01 At 22|l 5,680 4,840 840
O3tz MSAEIZ S B
70,000& *1221+23] 1,680
O2LE Rettl=dA 22 1,000, 000& 43| 4,000
03 EAH2ZH| 20,000 40,000 220,000
oOAuS SHEA M= 10,000, 000& *23l 20,000
301 LEEF 5,000 5,000 0
09 HALAHIXIAZ 5,000 5,000 0
OAUS A FH 24 5,000,000 =14 5,000
307 2I2t01 A 80,833 77,940 2,893
03 QIZICHHIHE 2 FHIE X 80,833 77,940 2,893
odds 2LXA 68,033
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et s
23l &8
=2 2IMHIA M3
M- (BH) - MPAY - BES e
OMEZE 1A 36,836
== 2,056, 100& «12& 24,674
-H22Y 308,410& *23] 617
-E=Y 40,0002 =12& 480
-AZExH| 155,000 x12& 1,860
-ZHZAH| 130,000 x12& 1,560
-HEFOtHI 1,233,660 23] 2,468
= SRS R 514,020& *43] 2,057
A2 & (AFS X 260,000 x12& 3,120
OAMSIE 214 31,197
-Jl2g 1,703,100& =128 20,438
-H22Y 85, 1502 23| 171
-E=Y 80,0002 x12& 960
=l 145,000& x12& 1,740
-ZHZAH| 130,000 x12& 1,560
-HEFOtHI 1,021,860 23| 2,044
-EAAEE S 425,770& *43] 1,704
-ACHE & (A 215,000& x12& 2,580
oOYANSs 2 12,800,000& * 1 & 12,800
Ot 23Es 34,000 34,000
L= 17,000
= 17,000
307 2I2t0I & 34,000 34,000
L= 17,000
o 17,000
02 QIRHB A AL E X 34,000 34,000
OX0tot= st #
34,000, 000 * 14 34,000
L= 17,000
= 17,000
S3T A2 K& 15,000 15,000
308 KX SHH SOl 15,000 15,000
08 WEI|20CHEEX 15,000 15,000
OLANRE A2 #
15,000,000& 14 15,000
STAZ X 6,250 6,250
307 2I2t0I & 6,250 6,250
02 QIZtAAMAIEE X 6,250 6,250
OLUNY HET 2 X
1,250,000 14 1,250
Qo4 A M X&
1,250,000 =14 1,250
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FA 2HF S
Hn: 2SR =2 Y 22
SAIRESS 2 29 co:Me)
= i N
SA - EHH . C(S) - MRAY - BAS S HI DS
oZtEd Jte HEI| aXg 25,0008 +128 300
OCUIEIE =HEL =52 120,000 <122 1,440
OQdAl - 82 - F=2cl A [
5,000,000 =14 5,000
02 3323 191,924 101,520 90,404
oZtsd A ACIES 90,000,0002 141 90,000
osE2= & HMA 3,127,000 122 37,524
ogtEa & - Y Azl 1,700,000 122 20,400
OA&EH S 20,000,0002 =141 20,000
Ot AME2CES =48 750,000&*122 9,000
Ol R HY S 2 2Kl
15,000,000 12| 15,000
202 (4l 1,200 4,320 A3,120
01 =W HHI 1,200 4,320 A3,120
omtsd IRFT Ol 20,0003 *121%603] 1,200
206 M= Hl 4,000 4,000 0
01 M =dl 4,000 4,000 0
oztda Mz 7Y 750,000 *42 J| 3,000
oxZzel Mz +¢Y 500,0002 23! 1,000
401 Al HIZ SO 20,000 45,000 225,000
01 Al€H| 20,000 45,000 225,000
O2de] & 88 0l UA
10,000,000& x2= 20,000
gE2 2208 29 21,000 21,000 0
201 £et2E| 21,000 21,000 0
01 AtR2telH 21,000 21,000 0
o=z 44 HE Z2 18 24
7,000,000 =14 7,000
oZtEd 020l MEud 23
11,000,000 141 11,000
OZdT =2 HE S It 28
3,000,000 » 141 3,000
SAMSHES2 HAICHHAIAY S8 3,000 2,000 1,000
405 Aok S| 3,000 2,000 1,000
01 MM =S F S 3,000 2,000 1,000
oZtEa ZataJtict #+& 3,000,000 *14] 3,000
HSAIRASE2 22 29,000 30,000 A1,000
201 fet2E| 29,000 30,000 A1,000
01 AtR2telH 28,000 29,000 A1,000
OclZ2 - 23X HMH 18,000,000 * 14 18,000
Oo=zaE M 10,000,0003 141 10,000
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FA 2HF S
MM 23R =29 U Bel
Sl HASEUSY 2 CEERE
o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
02 3323 1,000 1,000 0
ogYtsd SE=S L5= 1,000,000 =14 1,000
HAMNRHEES 23RS 2 7,000 7,700 AT700
201 Zet=dhl 7,000 7,700 AT700
01 AtR2telH 4,000 3,700 300
oaT R=2c| 3,000,000& * 14! 3,000
ogsd 2E N2+ 100,000 102! *12] 1,000
02 ss=3H 3,000 4,000 1,000
olR=E 282 3,000,000& * 14! 3,000
HSARASE2 MA2E 5,000 5,000 0
201 £et2E| 5,000 5,000 0
01 AtR2telH 5,000 5,000 0
O&AIHE & MEZ=+ FA2e
5,000,000 =14 5,000
SN 2& 2] 2,421,282 1,522,500 898,782
= 309,600
Il 102,075
< 641,803
= 1,367,804
=22 2l 1,890,800 1,286,400 604,400
= 309,600
S 588,280
= 992,920
E3H 2+=&H| 86, 100 156,400 A70,300
101 2124H| 6,500 6,500 0
04 JIZtN 22 NHEE2 =+ 6,500 6,500 0
OZ3M ZdHl AR A
130,000 x1& +503] 6,500
201 Zet=dhl 8,400 8,400 0
01 At 22l 6,000 6,000 0
O==tM 25t 2 X2 - 3l2+d
100,000& 221 %103] 2,000
O=23tM A& HAH 200,000& * 107 A #22] 4,000
02 ss=3H 2,400 2,400 0
O==tM & Al RXl2e 200,000 =12 2,400
202 044 1,200 1,500 A300
01 =W oLl 1,200 1,500 A300
OZ3tMael - et ge=d
20,0003 »32| x2ZH*102 1,200
401 Al HIZL 20l 70,000 140,000 A70,000
01 AlEHI 70,000 140,000 A70,000

~ 407 -




AN 2=
Hu: 25 2EL
=2 R 2 (el &
SA B SRA(EH) - MTAY - BAS e HIDE
ONEZS - BB S FA - A= D+
70,000,000& 14| 70,000
SAHE 23| 120,000 0 120,000
2 60,000
S 30,000
= 30,000
402 212t X=01 A 120,000 0 120,000
2 60,000
S 30,000
= 30,000
02 QN EAMBER (01X THH) 120,000 0 120,000
OUMA RESH HIYS Pa U CF
150,000,000 *141+80/100 120,000
= 60,000
S 30,000
= 30,000
SAE YHAAE RN B2 23,200 15,000 8,200
= 11,600
< 3,480
= 8,120
201 £et2E| 23,200 15,000 8,200
= 11,600
< 3,480
= 8,120
02 s5=3H 23,200 15,000 8,200
OHSAHE YMAIAE FAE=SHH|
7,733,300 x304 2= 23,200
= 11,600
S 3,480
= 8,120
XNE 280 24| 509,500 420,000 89,500
S 203,800
= 305,700
401 Al HIZ SO 509,500 420,000 89,500
S 203,800
= 305,700
01 Al€H| 509,500 408,771 100,729
OUY AFA RE2 FUMS
137,000,000 * 14 137,000
< 54,800
= 82,200
OA HFA AN 2= 300,000,000 14! 300,000
< 120,000
= 180,000
oY MMALK HFE2N &F
72,500,000& * 14| 72,500
< 29,000
= 43,500
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A 2atdsn
M ZoM BE=22
el REEZSH 2 (el &3
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(21)")'k"—rA|'|=|"}£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
INKNE 2 L SE2M E+-FUI X2 (LY & 15,000 20,000 5,000
AKX oS AME 2ELLIHY)
= 10,500
< 2,250
i 2,250
207 &0 | 15,000 20,000 A5,000
= 10,500
< 2,250
s 2,250
01 A7 E | 15,000 20,000 5,000
O XNMALK ToIHALE 2LIHY &9
15,000, 0003 * 14 15,000
= 10,500
= 2,250
i 2,250
2KNE 2SN L SESM E+FUIXA (LY o 15,000 70,000 255,000
YK 4SHE PXILHE)
= 10,500
< 2,250
s 2,250
207 & 20 Y| 15,000 20,000 5,000
= 10,500
= 2,250
i 2,250
01 A7 E S| 15,000 20,000 A5,000
OYY HNYAX ASHE TEBUHY 2
15,000, 000& » 14! 15,000
= 10,500
< 2,250
s 2,250
N2 & SESSM ExFHIXA (¥ 80,000 85,000 A5,000
AFAL LR THASHYH)
= 56,000
< 12,000
i 12,000
401 Al HI L2 0HHI 80,000 85,000 A5,000
= 56,000
< 12,000
i 12,000
01 Al&HI 80,000 85,000 25,000
OL LAatAL 23 ALR THASY 2 HS A
80,000, 000& *14] 80,000
= 56,000
& 12,000
i 12,000
ZKNE 2SN L SESM BE+FUIXA (LY 6t 30,000 0 30,000
T MESHYH)
= 21,000
< 4,500
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A 2atdsn
M ZoM BE=22
@t S 2l (el &3
- _ - &
SA - ZH - SA(SH) - MRAY - BES 0l el S HRE2
s 4,500
401 Al HI L2 0HHI 30,000 0 30,000
= 21,000
& 4,500
i 4,500
01 Al&HI 30,000 0 30,000
O St MHA=YE 2l
30,000, 000& *14] 30,000
= 21,000
< 4,500
i 4,500
SEAL Eo|Z A CHAIMI KT & 5,000 0 5,000
307 212+01 A 5,000 0 5,000
04 QIRHHAIAIH E X 5,000 0 5,000
QTHEAL £2Z AL CrellHl X &
5,000,000& * 14! 5,000
U S wEAH X 7,000 0 7,000
402 QI+ X201 7,000 0 7,000
01 Q2R 2AL EE (KM SA) 7,000 0 7,000
oxarn ws JIAHM X2 7,000,000& 14! 7,000
N2 & SESSM B2 X 2 (¥ & 200,000 0 200,000
ALK A4ESAE =H HULSIA 431
= 140,000
< 30,000
i 30,000
401 A& HI YL 20| 200,000 0 200,000
= 140,000
< 30,000
i 30,000
01 Al&HI 200,000 0 200,000
OXFAX &ESHE F=H UL I T AH4RL)
200,000, 000& * 14! 200,000
= 140,000
< 30,000
s 30,000
SARAN HIEAHIOl M2 HE KR 800,000 0 800,000
< 300,000
s 500,000
402 QI+ X201 800,000 0 800,000
& 300,000
s 500,000
02 QI XH2ALS E X (OIE ) 800,000 0 800,000
Q&AL ISAHIO M2 AKA
800,000, 000& = 14! 800,000
< 300,000
i 500,000
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EEE

o fo fo
o=z
Ay 0

o

HO HO MO
10 2
U i
Ho
02
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S =

el
EE

N
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s

A AH) - AL -

04l 4 o

=[x

i
J12H

Ho
ton
10
I
it
o]
20
09

M

186, 150
102,075
25,223
58,852

179,500

=

SN HEFHIA X & S

H X

141,150
70,575
21,173
49,402

132,800

8,350

101 el24d|

H X

141,150
70,575
21,173
49,402

132,800

8,350

04 JIZHZ22NSE =+

OS2 (AL L&) HEZHI B

28,230,000& x5H

HH

141,150

141,150
70,575
21,173
49,402

132,800

8,350

2 EHAIE RX2el

H X

45,000
31,500
4,050
9,450

46,700

21,700

M

45,000
31,500
4,050
9,450

46,700

1,700

SAPAN 2R) HHRXIAIE |2l

45,000,000 * 14!

H X

45,000

45,000
31,500
4,050
9,450

46,700

21,700

M

56,600

28,300
28,300

56,600

M

45,600

22,800
22,800

45,600

M

45,600

22,800
22,800

45,600

243
OSRESHWHSSNA  45,600,0002 *14]

M

45,600

45,600

22,800
22,800

45,600

H

11,000
5,500

11,000
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A 2atdsn
M ZoM BE=22
&©e: SE S 2l (2l &)
= = X L=
SA SR (S) - MRAY - BAS il &t e RS2
s 5,500
307 S12t0I & 11,000 11,000 0
L= 5,500
i 5,500
02 QIZtAAMAIEE X 11,000 11,000 0
OS2 S IHE At 11,000, 000& » 14! 11,000
L= 5,500
i 5,500
THol =+ AF 287,732 0 287,732
S HAIE Moo= ARS (KHA) 268,198 0 268,198
401 Al HI L2 0HHI 268,198 0 268,198
01 A&l 268,198 0 268,198
ORI MAIE (S H ) THH S AL
187,898,000 *14] 187,898
OIS HAIE (XY X E )Mo= AL
80,300, 000& 14 80,300
HMSAIE THoH = AR (XEAI) 19,534 0 19,534
401 Al HI L2 0HHI 19,534 0 19,534
01 Al&HI 19,534 0 19,534
OMSAIE THHS A 19,534,000& 14 19,534
HEAIEE3 S 1,393,664 1,291,544 102,120
HMSAE 2tel 1,393,664 1,291,544 102,120
A2REXHSAE KRR 2 390,276 357,130 33,146
101 el 24| 17,776 17,480 296
04 JI12tM22sEs 17,776 17,480 296
OALTRZEHMSAE(MH, 28, 85) &y &
=8 23 EH 3,600,000 *30H 2~ 10,800
OAAEHSAIE =&Y 22Y
69,7603 *2021+53| 6,976
201 LBr2Fd| 92,600 67,750 24,850
01 AL 22l bl 2,600 5,750 23,150
ONM=AY StEA F3EX +HE
300, 000& *2JH 2~ 600
Ox7E MSAE 29 2,000,000 =14 2,000
02 2322l 90,000 62,000 28,000
ONMSAE 2223 50,000,000 14! 50,000
O21E MSAE SX2el 20,000,000 14! 20,000
OAAE EAEY 20,000, 0002 =14 20,000
202 o44| 900 900 0
01 = LHGYI 900 900 0
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B

Bl

Ho Ho ko

> >

iz iz 30
0y
02

]

2l

o - = PSEE
SA B SRA(EH) - MTAY - BAS e HIDE
OMSEAIE FX 2 SE0H
20,0003 152 +3¢2! 900
206 M =H| 14,000 16,000 A2,000
01 =4l 14,000 16,000 A2,000
OA7Z2 MSAE(NMH, 85, 28) a4
25 2 3,000,000 *37H 2= 9,000
OAAZHSAIE st Wz 7Y
3,000,000 =14 3,000
OAAZMSAE XADISE 7Y
2,000,000& =14 2,000
401 Al HIZ SO 265,000 187,000 78,000
01 Al€H| 265,000 187,000 78,000
Ox72 MSAE SX2el 50,000,000 *14] 50,000
Ol +& =AlZel 20,000,000& 14| 20,000
OMTBZ D& &l 5,000,000& *42] 20,000
OHSTHAHOIEZH NS T3
30,000,000 14| 30,000
O==&d MH JHISA 80,000, 0003 14| 80,000
Oo=gd OFAANAE EXSA
15,000,000 14 15,000
O6HEH AHOIESH AXEL 2=
30,000,000 14! 30,000
OHILUAZ =2 Wi SAH
20,000, 0003 14! 20,000
SdLAUHF2 A2l 121,600 0 121,600
201 2=yl 99,600 0 99,600
01 At 22l 2,000 0 2,000
oUH=E2 24 2,000,000& * 14! 2,000
02 3323 97,600 0 97,600
(OFSPIR=E=) 1,800,000& 123 21,600
OA& &8l =Xbl 20,000,000& * 14| 20,000
Odot=ER= 100,000& 12 1,200
Ooagetd e 500,000& *12& 6,000
oOx=EY 200,000 122 2,400
ORIBALES AT 242
1,500,000& *23] 3,000
OaUHM=s2 FA2el &9 40,000,000 14! 40,000
O& M= HI|otd 2te| 200,000 122 2,400
OaUHE2 =43 N+ F4
500,000& 22| 1,000
206 M =H| 2,000 0 2,000
01 =4l 2,000 0 2,000
O U= stE4 M2 7
2,000,000& * 14! 2,000
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EstM=1
HEAEES
HSAE 2el

2 . - e
SN BB S(E) - MRAY - BAS S 2
401 AIEHI L 20HYI 20,000 0 20,000
01 A&l 20,000 0 20,000
OaUM=E2 AId2 RX2]
20,000, 000 * 14! 20,000
SE2SE A2 273,226 268,530 4,696
101 Q124 H| 6,976 6,680 296
04 JI12tH22 s+ 6,976 6,680 296
OZEHSSH FHFY| ALY
69,760& 202153 6,976
201 LBr2Fd| 147,250 124,850 22,400
01 AL 22l bl 4,000 3,000 1,000
C=EE2sE 29Y 3,000,000 =14 3,000
CZEE2sE M=sSX =R HE=
1,000, 000 * 14 1,000
02 222l 143,250 121,850 21,400
CEE2sE 223 103,250
OEE2sY SEFEAUAAE RX2CEL
350,000 x12& 4,200
Oz StMEE 3,000,000 1A 3,000
OZ82sy 2YIFLEY
1,200, 000& 23| 2,400
OZEg2sd L5829 250, 000& 53] 1,250
OEEg2sd dlies 4,000,000 123 48,000
Osgzsd Mgtz
1,000,000& =128 12,000
O=gzsd sFIsNEs
200,000& x12& 2,400
OFeg2sd agordael  500,0003 123 6,000
O=g2sd o= Rk=
1,500,000& =128 18,000
O=Egzsd SeEA 400,000 «6& 2,400
OFeg2sE JIEtE2E222  300,000& 123 3,600
CEE2sH ELEY 40,000, 0002 14 40,000
206 M =4I 7,000 7,000 0
01 HZdl 7,000 7,000 0
o= =&Ed e +¢
5,000,000 14 5,000
OZH2ER MIIIZE 2
2,000,000 =14 2,000
401 Al EBI YL 2CHYI 112,000 110,000 2,000
01 A&l 112,000 110,000 2,000
oOsg2sd 7AZe 112,000
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FA 2HF S
33 M=sANE34
=22 MSAE 22 CEERED
. N
SA-BY.SASH) - RN - B ol &t S HIDE
Osgesgd Vi =2l
22,000,000 14| 22,000
OZE2SH MR MEX
20,000,0003 =14 20,000
Osg=2sd AN |KA2HCES
50,000, 0003 14| 50,000
Osg2sd AMErl2l
20,000,000 14| 20,000
AOIZ2ZJ1E AlE 2el 332,430 454,876 A122,446
101 14| 22,324 21,376 948
04 JIZtH22XSE 22,324 21,376 948
OAOIZ2E01E =gl =Y
69,7603 2021 x102] 13,952
OBEIUEZ FHFH| LY
69,7603 x202! +62] 8,372
201 2=yl 185,706 100,000 85,706
01 At=2t el 4,346 3,000 1,346
OAOIZ8I1E 24 3,000,000& * 14! 3,000
OAOIZ2EIIE JtEEHZD| SXt=
12,1002 141 %128 146
OAOIZYIIZ JHIE BT 242
100,000 «141x123 1,200
02 3323 181,360 97,000 84,360
os32= ¥ HMA 65,000, 0002 * 141 65,000
OA& &8l =Xbl 20,000,0003 14 20,000
OAN&EEE == 12,000,0003 =14 12,000
OALOIZ28I1& CCTV |RAIZ+HI
730,000& «12& 8,760
OAOIZ2E01E =293 Mex o
800,000& 22 1,600
OAOIZ2EI1E Ea2e 40,000,0003 14 40,000
OAMOIZEINE 2FXlAld 2t
22,000,000 14| 22,000
OAOIZ2EI1E =Us & 23A 89
12,000,000& 14| 12,000
202 (4l 2,400 2,400 0
01 =W oddl 2,400 2,400 0
OAOIZ2EI1E g2FA 0l
120,000 221 %103/ 2,400
206 M= Hl 7,000 7,000 0
01 =l 7,000 7,000 0
Oztdd Mz & XD 5 7Y
5,000,000 =14} 5,000
osg MYz FHdHel Mz 7Y
2,000,000& * 14! 2,000
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M 2SI
M MEAMEES
el MEAE 2tel (el &3
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(21)")'k||—rA|'|=|"l£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
401 A& HI YL 20HHI 115,000 230, 100 A 115,100
01 Al&HI 115,000 230,100 A 115,100
OMOI2EIIHE HZESE RIEs Y
25,000,000 14! 25,000
QAIOIZ2&IE 22 15,000, 0003 * 14 15,000
QAOIZ2ZIIE AldE SXl2tel
20,000, 000& *14] 20,000
OWRCE 9oy 2 RARL DA
55,000,000 14! 55,000
A HIOIEE AlE 2tel 13,761 53,524 239,763
101 Q124 H| 12,261 12,024 237
04 JI2tHZ22ESE+ 12,261 12,024 237
OX&EN HOISE FHl =2
69,760 *821%103] 5,581
OXREI HIOIBY FHIU| Q1LY
66,800& 1021 %103 6,680
201 et Fy| 1,500 1,500 0
02 2322l 1,500 1,500 0
032232 % HA 1,500,000& *14] 1,500
SN FHEH A2t 166,026 157,484 8,542
101 214 H| 6,976 29,842 A22,866
M4 JI24tHZ2REES 6,976 29,842 A22,866
O=CIMSHE FHFY oY
69,760& x2021 53] 6,976
201 et Fy| 97,050 45,642 51,408
01 At 2teltl 3,200 2,000 1,200
O=8N=s4dH 24 2,000,000& 14! 2,000
ORVIHSHE I SHEL +42
100,000 x12& 1,200
02 2322l 93,850 43,642 50,208
O=LM=dH 232= 48,850
OSEEAHAAE RX22ES
350,000 x12& 4,200
OFMEH 3,000,000& 14l 3,000
OSdaAxL2Y 1,000,000& *23] 2,000
Oox=89 250,000& *52] 1,250
O&IIRZB 1,800,000 x12& 21,600
O&sIRNE=S 200,000+ 12& 2,400
OagorA e 500,000& *x12& 6,000
Q4dt==ER23 400,000 x12& 4,800
OJIEtE3Re=2 300,000& *12& 3,600
OZMSHE &HA2tel 45,000,000 14! 45,000
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S H:
7(‘| il—l:
C|—O|:

EstM=1
HEAEES
HSAE 2el

% = &
SN B CR(BH) - MRAY - BES 0l et S HRE2
203 PR F2AY| 2,000 0 2,000
03 Al =8 R =AY 2,000 0 2,000
OB L MSAL YexT
2,000,000& 14! 2,000
206 XH =4I 7,000 7,000 0
01 M=l 7,000 7,000 0
OROIKSHEH BEA W2 7
5,000,000& 14! 5,000
OZUHSME MY I2E Y
2,000,000& 14! 2,000
401 A& HI YL 20| 50,000 14,000 36,000
01 Al&HI 50,000 14,000 36,000
O=0H=HH AldE Szl
20,000,000 14! 20,000
O=CNSHH 2% EC= DHZA
30,000,000 14! 30,000
405 RHakS 3,000 23,000 220,000
01 Xt 2 SFHSHI 3,000 23,000 220,000
OZUMSHEH YAS Astadtyat 7
3,000,000 «1CH 3,000
LAMETSHE AlL2tel 96,345 0 96,345
101 214 H| 29,949 0 29,949
04 JI2tH22 s+ 29,949 0 29,949
OYY MBISMH JI2HM 22 A el2dd| 29,949
oJles 79,0503 * 18 x264 20,870
OF=s=¢ 79,0503 1H «52&d 4,11
Osg22sg 79,0503 1 +150%+ 10 1,186
(OFPN == L=y 79,0503 110 791
O=0A32E3 27,353,000% 12 +0.045 1,231
ONs828RE=a 27,353,000 +«18+0.0165 452
OHLEHRES 27,353,000 18 +0.0343 939
OBIIRLEEE 939,000& *x 14 +0. 1152 109
OLrA TS E 3 27,353,000 *1H +0.00948 260
201 et Fy| 36,396 0 36,396
01 At 2teltl 3,346 0 3,346
O FHE 2 2,000,000& 14! 2,000
OYYMBHSHE IHESHLI| 42
100,000 x 14«12 1,200
QUAMETY MY JFIEHLI| U=
12,100& x 14 x12& 146
02 2322l 33,050 0 33,050
QLAMENFHH 2R3 33,050
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S 23S
M MSALBY
ool MSAE 2 (cte &
X _ - Sl
SA -3 HAGA) - HEAY - BES Ol & oK 'Oﬂ'@oEu HuE2
SENEE 3,000,002 *14] 3,000
OL=89 250, 000! *53| 1,250
Srpll=E 1,000,000 123 12,000
OFSPIREEIE=1 200,0002! 123 2,400
OAgordpe| g 5000002 *123] 6,000
Oust+ER3 400,000% 123 4,800
OJIEBBR3 300,0002 123 3,600
206 TH 2| 7,000 0 7,000
01 HHEH| 7,000 0 7,000
OstFA WE ¥ X))l 25 7Y
5,000,008 *14! 5,000
OYYMEHSUE 2= Fe1¥el WE 7Y
2,000,0008! %144 2,000
401 AlEHIL S THY| 20,000 0 20,000
01 Al&t| 20,000 0 20,000
OYYMBHSUE RXZ4
20,000,0002! * 14! 20,000
405 XHaHE S| 3,000 0 3,000
01 RAtL 225 S| 3,000 0 3,000
OYYMBHSUE YA S35t 2
3,000,008 *14! 3,000
FUARE B L3t 5,627,001 2,589,473 3,037,528
7 1,345,000
b 409,360
< 957,136
= 2,915,505
HEgs 84 N 1,428,481 1,297,953 130,528
b 199,360
< 15,136
= 1,213,985
s 2835t X2 532,237 476,413 55,824
201 LprE Y| 20,000 20,000 0
01 At 2| | 20,000 20,000 0
OYAFC =7F 22| 20,000,0002! * 12! 20,000
307 8I2t0l & 512,237 456,413 55,824
03 IZHEHHE 2R & 512,237 456,413 55,824
OYAZHES Q12| X 435,557
OMNR2F 59,785,000% * 1% 59,785
ogs 46,848, 0002 4% 187,392
O2tA 40,350, 0002 <22 80,700
OFSES =Y, 33,670,0002 %1% 33,670
O4TH2 B (AFZXHREZ)  4,800,0002 8% 38,400
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AN 2=
HE: AN WY U3
ool HSES |4 N 2 &2
. - - N
A -3 S9(30) - NISAY - B S HI DS
SEEEE 3,826,250 x8H 30,610
ogLzHE2 24l N2 76,680,000 *14] 76,680
2d Hsgs N 146,160 144,840 1,320
Il 73,080
= 73,080
307 212+l 146,160 144,840 1,320
Il 73,080
= 73,080
02 UABYAHE L 146,160 144,840 1,320
OodZ2dNsEs N=A HiX
2,436,0002 x6H x 122 146,160
Jl 73,080
= 73,080
HEM=Z208 29 20,000 24,000 4,000
LS 10,000
= 10,000
307 212tol & 20,000 24,000 4,000
& 10,000
= 10,000
02 UABYAHE L 20,000 24,000 24,000
odeHsus 24 20,000,0003 =14 20,000
LS 10,000
= 10,000
deH s 29 100,220 62,296 37,924
307 212+ol A 100,220 62,296 37,924
03 AAHHEH2IGHES 100,220 62,29 37,924
OMSEXNZA MRIHA 100,220
OMESN=A MM X2 100,220
=gl 140,000 « 122112 20,160
-S| 100,000 x 122112 14,400
-Fll2&5+8 61,0002 *1221%12& 8,784
&= 59,000& *1221%12& 8,496
-ES0HI 1,224,000& 1221 %23 29,376
—Zu2erg 131,970 122112 19,004
MEH SN &8s XA 175,392 173,808 1,584
Jl 87,696
i 87,696
307 212tol & 175,392 173,808 1,584
Jl 87,696
= 87,696
02 UBHAIHE 175,392 173,808 1,584
OME MKt BHXI  2,436,000&«6E 128 175,392
Jl 87,696
i 87,696
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EM 2
o

SHA
Ha: oro
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==

el Al o K& (el &R
- _ - PSLE|
SA-F3H - SA(ZA) - HRAY - BES Off &F o4 'Oﬂ'@oEu Hws2
ZOHQ! MEXNSXZAF HEXI 29,232 28,968 264
Il 14,616
s 14,616
307 212t0l A 29,232 28,968 264
Il 14,616
s 14,616
02 QIZtH AR E & 29,232 28,968 264
OZ0HQ MEXSXA HIXI
2,436,000&«1H ~128 29,232
Il 14,616
s 14,616
=Al M= X 22,000 22,000 0
201 et & 18,000 18,000 0
01 At=22telH] 18,000 18,000 0
OXd=Uzl X 2ZHl 5,000, 000& = 14! 5,000
Od=E2 AMOIZUE X& 2]
13,000, 000& * 14 13,000
202 04l 4,000 4,000 0
01 SLHO Y 4,000 4,000 0
2E M=z A& 100,000 x4 105! 4,000
SOIM=EUE X& 29,000 29,000 0
202 04l 2,000 2,000 0
01 S LHAYI 2,000 2,000 0
OTCM=Uz & X&  400,000& 512 2,000
301 LEHEN S 27,000 27,000 0
09 HAIAHIXIE = 27,000 27,000 0
Oa A ES=E MY 2
27,000,000 * 14! 27,000
AEEAL 012 KR 31,680 28,160 3,520
Il 22,176
< 4,752
= 4,752
301 LEHEN S 31,680 28,160 3,520
Il 22,176
< 4,752
s 4,752
01 At2| 28X =563 31,680 28,160 3,520
OAZ=0|Ed H2t 31,680,000 =14 31,680
Il 22,176
< 4,752
= 4,752
312 D18 =20 AHEelll Ua izl 15,000 15,000 0
307 glztol 15,000 15,000 0
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S H:
7(‘| il—l:
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o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
04 QIZHHAAIR E & 15,000 15,000 0
©3.1& 0|8 gzl Aa2EeI tal =
15,000,000 141 15,000
S5 I8 L2z sirsSEeldl tal Mz 15,000 15,000 0
307 e1z2tol A 15,000 15,000 0
04 QIZHHAAIR E & 15,000 15,000 0
O8sd JI8 L2l S0t Uzl N
Zl 15,000,000 14 15,000
KBSHH 2ftM=AtOIZU S Al 130,000 110,000 20,000
307 212t01 A 130,000 110,000 20,000
04 QIZFHALAFHI 2 X 130,000 110,000 20,000
OKBSHH &= AtOIZ2THE! JH=l
130,000,000 * 14 130,000
8.158F L AAHAOISU2 HE 50,000 40,000 10,000
307 212t01 A 50,000 40,000 10,000
04 QIZFHALAFRI 2 X 50,000 40,000 10,000
©8.158 = LA X RA0IZ2U=l WAl
50,000, 0003 14! 50,000
BMX CH2l JHZ 50,000 29,500 20,500
307 eI+l 50,000 29,500 20,500
04 QIZHHAAIR E & 50,000 29,500 20,500
O BUX = HITH= 30,000,0003 141 30,000
Od= BWX 2538 U=l M=
20,000,000 14| 20,000
g2ctd Uzl Nzl 40,000 40,000 0
307 212+l 40,000 40,000 0
04 QIZHHAAIR E & 40,000 40,000 0
oy =ctEUa Nl 40,000,000 * 14 40,000
d= NdN Sz E= HIH 20,000 20,000 0
307 212tol A 20,000 20,000 0
04 QIZHHAAIR E & 20,000 20,000 0
Od= MENHSZ EHU3
20,000,000 14| 20,000
AZ=0HE 243st 10,000 10,000 0
201 Zet=dhl 10,000 10,000 0
01 At 22l 10,000 10,000 0
OAZ=[0HE 22 10,000, 0003 14| 10,000
HIAILIN S5 HUAHR K 10,000 0 10,000
307 212+l 10,000 0 10,000
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SA-BY.SASH) - RN - B ol &t S HIDE
04 QIZHHAAIR E & 10,000 0 10,000
O&EFAILIO S22 HILIATHR JHE
10,000,0003 14 10,000
el AZ=x2A4 0|83 AL 2,560 0 2,560
Jl 1,792
& 384
i 384
301 2283 2,560 0 2,560
Jl 1,792
& 384
= 384
01 Al Ed XM +dl= 2,560 0 2,560
OFMRl A=A 082 2,560,000 *14] 2,560
Il 1,792
S 384
i 384
HSAE 25 3,397,900 490,900 2,907,000
[ 1,345,000
Il 210,000
S 942,000
i 900,900
SSHSANE &5 810,900 150,900 660,000
201 2=yl 10,000 10,000 0
01 AtR2telH 10,000 10,000 0
OSSHEAE £X234l 5,000,000& * 14! 5,000
OEXNZEEI ==2 5,000,000& * 14! 5,000
202 (48l 900 900 0
01 =W oddl 900 900 0
OMSAIE =5 2012 g2 900,000 14! 900
401 Al HIZ SO 800,000 140,000 660,000
01 Al€H| 800,000 140,000 660,000
O=SHSEAE &5 EXHSY
800,000,000 *14] 800,000
SEMSAE S (ZHEX) 300,000 0 300,000
Jl 210,000
= 90,000
401 Al HIZL 20l 300,000 0 300,000
Il 210,000
= 90,000
01 Al€Hdl 300,000 0 300,000
O AUMSE2 JOUHSAE EXALE
300,000,000& * 14! 300,000
Jl 210,000
i 90,000
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1000 fot
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Py

1 40 10
ooy ¥
I
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Ot 02

A= E9I(E) - ARAY - BaS e HIDE
EHSSAZLEAY 604,000 340,000 264,000
[ 355,000
< 249,000
401 Al HIZ SO 604,000 340,000 264,000
[ 355,000
< 249,000
01 Al€H| 604,000 340,000 264,000
Oy dENsS3d gAY
604,000,000& * 14! 604,000
s 355,000
< 249,000
& =2 AdEAML ,683,000 0 1,683,000
s 990,000
S 693,000
401 Al HIZ SO ,683,000 0 1,683,000
[ 990,000
< 693,000
01 Al€H| ,683,000 0 1,683,000
oYL =H AEAMY  1,683,000,0002 *14] ,683,000
s 990,000
< 693,000
g8 29 800,620 800,620 0
Ol2d=+ 54 X& 800,620 800,620 0
201 Zet=dhl 15,000 0 15,000
02 s5=3H 15,000 0 15,000
OAIOIZ2E AMes=XA2el  1,250,0002 122 15,000
202 044 1,000 1,000 0
01 =W oLl 1,000 1,000 0
Od=H? AOI2U= 28 2L
1,000,000 =14 1,000
301 LBtENS 754,620 769,620 215,000
02 ¥et=dsti= 24,000 24,000 0
OAIOIZ2 &= tXts A& 4,000,000& *6¢2! 24,000
Vo=t - 2sFS243 710,620 725,620 215,000
OAIOI2 & Q12| 710,620
oJlzs 4,300,000 x9C1 12 464,400
OxMg 200,000& =201+ 128 4,800
Odoll 28 10,000, 0003 14| 10,000
O&dl 30,000& 921 %280 75,600
O&Xlzd & Wal&Edy|
600,000& x92! x93 48,600
Ol =l 1,000,000& x10&+22] 20,000
SRS 5,000,000& =3¢! 15,000
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AN 2=
MM QUHS BW s
ool AYE 2Y (S5 &2
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
O4UEE (MSEXESZ) 538,000,000 x9% 48,420
Ood+ & JASHHI 200,000& <9< 1,800
Odgs S5l 2,000,000& =14 2,000
Od = S 10,000,000& «2& 20,000
2IIB2 4= 20,000 20,000 0
Oolla 25 Zd= 2,000,000& %102 20,000
405 Kok S4| 30,000 30,000 0
01 MM =S F S 30,000 30,000 0
OAOIZ2 BOIN & 23 e
30,000, 0003 14! 30,000
HH2SIH (2= 362,958 930,849 A567,891
QI 2IHI (2= ) 262,158 813,457 A551,299
QA2 HHI (2= ) 262,158 813,457 Ab51,299
101 2124H| 262,158 813,457 A551,299
01 E2= 67,648 54,406 13,242
Oozuz2=2+g 10,8413 %480 A1 2t %1321 67,648
03 2o HAZ 2 HE =+ 194,510 759,051 564,541
Oo+gd 2l UFY 67,568
OAZt2e=g 20,8373 *20AI 21204 & »421 20,004
Ol =t 500,000& 4! 2,000
Osgz2exg 111, 1303 41522 x150% 34,673
OFL22+=<(100=22150)
111, 1303 x4 21«49 %50% 10,891
Oz 2GR S 10,542
OAIZtel=d 20,0333 +15AI 2t 1204 12! 3,606
Ol =l 500,000& = 1¢! 500
Osgz2f=g 107, 2473 x121%302 *150% 4,827
OF222+¢(100=22150)
107, 24723 x121«30L *50% 1,609
ot 2| AUFY 73,364
OAlIZ+2#=5 19,6573 720 Al 2% 150% 21,230
Ol1l=Hl 500, 000& *4¢! 2,000
Osgaesd 156,666 x4 21 %36 & *150% 33,840
OF222+¢(100=22150)
156,666 x4 21«52 x50% 16,294
OSSHMsAlZ2elel 43,036
OAlIZF2+=E 13,8913 180 Al 2t % 150%*3 ¢! 11,252
Ol =t 300,000& x51+500, 0002 » 1L 2,000
Osgaesd 111, 1313 #4110+ 150% 6,668
OFL22+<(100=22150)
111, 1313 #41 %104 50% 23,116
J2ZHI(2HS 1) 100,800 117,392 A16,592
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FA 2HF S
g HY2IPU(=SHS D)
Sl JI2FH(2SHS D) SE R
. - - N
SA - EHH . C(S) - MRAY - BAS S HI DS
Jl2ZHl (2 M=) 100,800 117,392 216,592
201 £et2E| 78,170 98,812 A20,642
01 At 2t2ld 50,170 73,812 N23,642
oge =ZH|(SH# 50,170
Oggt~gt| 15,870,000 14 15,870
O2d+g(L=ad 6,780,000 141 6,780
O= e 7,520,000 141 7,520
Ogxtz 20,000,0003 =14 20,000
02 =524 28,000 25,000 3,000
Oxtg X2 9,000,000& * 14 9,000
OGESSHaHI(SXg 2, dE22 HIAL)
19,000,000 14 19,000
202 (4l 17,300 12,700 4,600
01 =Woddl 17,300 12,700 4,600
OJl=dR=anbl 17,300,000 141 17,300
203 A R=2H| 5,330 5,880 2550
04 EN2SYERFAH 5,330 4,800 530
oOFN2IYRFAYI 5,330,000 =14 5,330
Hegs(2stHs) 878,535 1,002,913 A214,378
LIEHHXIE 878,535 1,092,913 A214,378
LHEHH X & 878,535 1,092,913 A214,378
02 IJlsdEs 878,535 1,092,913 A214,378
MIErSE= 878,535 1,092,913 A214,378
o=z dES
878,535,000 * 14| 878,535
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